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cHE-o6 

BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

December, 2018 

CHEMISTRY 

CHE-06 : ORGANIC REACTION MECHANISM 

Time : 2 hours 	 Maximum Marks : 50 

Note : Answer any five questions. All questions carry 
equal marks. 

1. (a) Which in the following pairs would undergo 
faster SN1 reaction and why ? 

(i) CH3C1 or (CH3CH2)2CHC1 

(ii) (CH3)2CHI or (CH3)2CHC1 

(iii) CH3C1 or CH3OTs 

(b) Categorise the following into electrophiles or 
nucleophiles : 	 3 

O 

CH30-; PH3; r; CH3  - C - Cl; Zn2+; CH3NH2  

(c) Taking a suitable example, give the 
application of isotopic labelling in 
establishing the mechanism. 	 4 
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2. (a) Give one example of the following reactions 

with equation only (any two) : 	 4 

(i) Aldol condensation 

(ii) Perkin condensation 

(iii) Wolff-Kishner reduction 

(b) Distinguish between thermoplastic and 

thermosetting polymers. 	 3 

(c) Explain the cleansing action of 'Soaps'. 	3 

3. (a) Write the mechanism of any two of the 

following reactions : 	 6 

(i) Cannizzaro Reaction 

Curtius Rearrangement 

(iii) Claisen Condensation 

(b) Describe any two of the following. Give two 

examples for each case : 	 4 

(i) Antibiotics 

(ii) Azo dyes 

(iii) Analgesics 

4. (a) Define Hiickel's rule. Identify which of the 

following are aromatic, giving reasons : 

H 
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(b) Identify the alkene which, on reaction with 
ozone followed by further reaction with 
Zn/1120, gives a mixture of ethanal and 

propanone. Write the mechanism of the 
reactions. 	 5 

5. (a) How will you convert (any two) ? 	 6 

(i) Acetoacetic ester into succinic acid 

(ii) Maionic ester into butanoic acid 

(iii) Methylmagnesium bromide into 
propanol 

(b) What are carbenes ? Give one method of 
their generation. 	 4 

6. (a) List the following radicals in the order of 
increasing stability. Justify your answer. 	3 

C).  ; 	  ; 	 cH3 ; 

CH 

(b) Why are alkenes more reactive than alkynes 
towards electrophilic addition reaction ? 	3 

(c) Write the mechanism of the Friedel-Crafts 
alkylation. Give its limitations. 	 4 
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7 . (a) Why is pyrrole more reactive than benzene 

electrophilic substitution reactions ? 
	

3 

(b) NO2  group is metadirecting in electrophilic 

aromatic substitution. Justify. 
	 3 

(c) Define Pericyclic reactions'. Name their 

types with one example for each type. 	4 

8. Write short notes on any four of the 

following : 4x2 — =10 
2 

(a) Diels-Alder Reaction 

(b) Michael Addition 

(c) Photosensitisation 

(d) Clemmensen Reduction 

(e) Neighbouring Group Participation 

(0 Hofmann Elimination 
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